A Lesatlt
X Liosgety
Rl LI-SEE SeAe2E (CHol: &S1)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
LS8 14,650,634 17,450,243 A2,79,609
= 2,701,000
[ 640,000
= 2,578,841
Al 6,730,793
CH 2,000,000
Li-Se 4t 14,595,368 17,398,613 2,803,245
= 2,701,000
s 640,000
S 2,578,841
Al 6,675,527
CH 2,000,000
LI- St SdAHAS 5,265,327 16,790,613 10,525,286
= 2,701,000
S 457,800
Al 2,106,527
LSS AA S 118,327 6,885,613 N\B,767,286
101 @124H| 35,227 33,513 1,714
04 JIZtNZ22 XS24+ 35,227 33,513 1,714
Olt=seAAl ed | 35,227
—Jl2= 76,9602 170 2 26,167
—=x==g 76,9603 x35 2 x2H 5,388
—AXt=E 76,9603 x8L x2H 1,232
—2HAH| 3,0003 %1702 1,020
— St 3,0003 %1702 2 1,020
—II=H(HY= 2AYs §)
100,000& »2 & *22 400
201 Ler23 | 55,700 55,700
01 At2t2ltl 26,800 26,800
Oget=ZH| 25,000
—L=-E8 RN dMFH 2A2F 5,000
—LI=S8 MYEA & H2HI 2=
10,000& %2,0005 20,000
Oogxz 1,800
—H7EX Mol S+EHl & =2l &
] 1,800
02 S3=4gl 7,400 7,400 0
0332 € MAl 2,400
—HIILS(HAFRE JIFE)
180,000& »12& 2,160
—&=E23(H7H 1,2729)
20,0002« 128 240
OLt=1]0t SHIOIA FAl2tl 3,000
OAI2 &= X 2,000




A UHesglt
X Liosgety
Rl LI-SEE SeAe2E (CHol: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—HPEN BY, =X, KK, L
S &¢cl 2,000
03 A= SHI 21,500 21,500 0
OLHzEI2, LH=22I0 LIeTI0t S L8
gty 222 29 21,500
202 04| 15,000 15,000
01 =LHOLI 15,000 15,000
Olt=8g My =4 10,000
Ol 2AH #F =8 5,000
203 HR=AH] 11,000 11,000
03 A= PR F&IH| 11,000 11,000
Oltes8 MPEHXZL 212 UL
B 5,000
OLtc8g 2elAl 75 & 7012 !X
= 6,000
206 M=l 1,400 1,400
01 MHZH| 1,400 1,400
Ou7Al |22 M= 1,400
—&ZEH 223 (0FIIE S) 500
—SHUFHI RE(FLYR, 24 S) 900
SSH=HM2IAE &X 505,000 4,724,000 /4,219,000
= 300,000
S 27,000
Al 178,000
401 AlZHIZ SO 505,000 210,000 295,000
= 300,000
= 27,000
Al 178,000
01 AlZH| 500,000 210,000 290,000
OUL=88 =otetet SSH+HMlAIE (2
A) 500,000
= 300,000
= 27,000
Al 173,000
03 AIESTHYI 5,000 0 5,000
OULE8 IR =4 5,000
AHHA2SHNFAIE EX 3,242,000 2,781,000 461,000
= 2,401,000
= 430,800
Al 410,200
403 AXIEHMSA=Z0l1d 3,242,000 2,781,000 461,000
= 2,401,000
= 430,800
Al 410,200




A UHesglt
X Liosgety
Rl LI-SEE SeAe2E (CHol: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 SIS0t 2 S A A 3,242,000 2,781,000 461,000
OUHE 2EMFAIE 3,242,000
= 2,401,000
< 430,800
Al 410,200
ADIESHES JIBIRS AIS(=20t 2E XI) 1,400,000 1,400,000 0
403 AXIEHMSAH=0lH 1,400,000 1,400,000
02 SO 2SO et =& 2 EF A I 1,400,000 1,400,000
OANIES Y3 I EAY 1,400,000
ST 859,000 908,000 /49,000
=S 150,000
Al 709,000
Li-sSeargd 350,000 350,000 0
== 150,000
Al 200,000
308 AHXIHMSO0IA 360,000 350,000 0
< 150,000
Al 200,000
11 SIS0t oA A A 350,000 350,000 0
Olt=sg MgH 350,000
= 150,000
Al 200,000
L&ty |4 9,000 58,000 49,000
201 fet=23y| 9,000 58,000 /49,000
01 AtR2te|HI 7,500 32,500 A25,000
O=zg=g 4,500
—LI- S g AR Hu+E
100,000 »15E 23] 3,000
—UC-SSEE AR F4A AHI2
& 50,0002 x 152 +23] 1,500
Odllel 72012 WKRE ?et S| 3,000
03 A2 I 1,500 3,500 22,000
OLt=seet MOIL 1,500
AN Sa-8H g |4 500,000 500,000
403 AXIEHHSAH=0l 500,000 500,000
02 SIS0t =S A A 500,000 500,000
OXNSSAHXIIY SHHE &Y 500,000
Ryl =y 8,471,041 700,000 7,771,041
= 640,000
& 1,971,041
Al 3,860,000
CH 2,000,000
AN R QIR ARAIY D& 700,000 700,000 0




A UHesglt
X Liosgety
el SR (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
403 AXIEHMSAH=01& 700,000 700,000
02 SISt 2 S A AIEHI 700,000 700,000
OANIES galde| 457 NN 700,000
F=AEE Al - 23 NJdE 75 At 6,771,041 0 6,771,041
= 1,971,041
Al 2,800,000
CH 2,000,000
401 Al HIZ 2018 2,800,000 0 2,800,000
01 Al&H| 2,800,000 0 2,800,000
O=aed AM - F35 N2HH S0 2,800,000
403 MR EHHSAHE01H 3,971,041 0 3,971,041
=S 1,971,041
CH 2,000,000
02 SVI2S0 U H=E 2 EAIEI 3,971,041 0 3,971,041
O=asd AM - 23 X2dH 2= 3,971,041
< 1,971,041
CH 2,000,000
2 SSYUE XNAMGHEH AHE 1,000,000 0 1,000,000
= 640,000
Al 360,000
401 AIEHIX SO 1,000,000 0 1,000,000
= 640,000
Al 360,000
01 AlZ2H| 1,000,000 0 1,000,000
Og2e SS8UE Nadtguy A8 1,000,000
[ 640,000
Al 360,000
HH2IZHI(LIcsSEL) 55,266 51,630 3,636
=3t 55,266 51,630 3,636
Jl=23H| 55,266 51,630 3,636
201 er2&y| 17,220 16,176 1,044
01 AtR2t2|HI 17,220 16,176 1,044
OfRMEgII1=23I 17,220
202 04| 35,046 32,454 2,592
01 =LHOLI 35,046 32,454 2,592
O=3Udbl 35,046
203 HR=H] 3,000 3,000
M EA2ER=AH 3,000 3,000
ORNEgE =AY 3,000




